6 Series
8 30, 60
===
Tabbed Brackets - For 1 Slot Uﬁ 5
For 6 Series (Slot Width 8mm) Aluminum Extrusions
WlFeatures: Tabbed Brackets to be connected by both L and Cross-Connections. WFeatures: Pressing nuts against the long tabs makes yme hole positioning y.
i Back Vi
Tabbed Reversal Brac!feis HBLFSN6 % 1 [Nt Mounting Brackets HBLFSR6 < gf:z lew>
’ HBLFSN6-5 (For M5 Screw) 4525 2065 e
HBLFSNBG6 (Black Anodize) . 10 10 0 . —
HBLFSNMB (Electroless Nickel Plating) 2-06.3 >/ s ~ n ﬁ
CHBLFSNG (Baked Paint, Silver) 30 [rp— ik / (®Slotted holes are for various nut &
A - hol itions.
Type [[MMaterial E¥Surface Treatment 15 alteration €) - = / ®B?a?:l?:tstle:ggsmay be damaged @ -
(DHBLFSN6 - 12# 7Y o when nuts are fallen on them.
(2HBLFSN6-5 - | A (®Use of washers are recommended. 111.7] ‘ 8 ‘
EN AC-4610! - N ‘.A:::iy (Refer to alterations below: SEC) 12
(3HBLFSNB6 Equiv, Black Anodize ><M5 e 51 20
(®HBLFSNM6 Electroless Nickel Plating (1ihen speciying - ‘ 12 ;3—>
(®CHBLFSN6 Baked Paint (Siver) aleion ) 18 et 8146100 £ 2
* Baked Paint (Silver) is color coordinated with 30 aterial ~46100 Equiv
— o i Alati Serow TRl
.2 when is specified. Number | (g) Screw \nuarmv\ T Nut \nuamily (N) [1~99 pe(s)| 100~200 ex Example %d fine adjustment becomes unnecessary.
. L A Short Nuts, HNTM and HNTAM t
Part |Mass| Applicable Screw, T Nut |AobeLoad[Unit Price]voneisaatpae Can be installed in either direction. HBLFSR6] 15 | cBM6-12 [ 2 | HNTT6-6 | 2 [ 1176 o ;?ncab“les. an are nof
Number | (g) | Screw |ami| T Nut |oeis| (N) [1-99 pc(s)| 100~200 ax Example
HBLFSN6 CBM6-12 HNTT6-6
HBLFSN6-5
For M5 Screw) CBM5-12 HNTT6-5 lFeatures: Brackets with single side tabs. Plates can be mounted on the side without tabs.
HBLFSNB6* MBrackets with Single Side Tab
Black Anodize) 15 2 2 | 1176 9 HBLFSNK6 452 HBLFSNKG Side View HBLFSNES Side View
HBLFSNM6 e TG HBLFSNE6 10 2062 45 1.0
Fotoess kel Patng 2-06.2 10 0. 2-06.2 NN
CHBLFSN6 25 M % R— ~
Baked Paint, Siver Cross-Connection 30 ety M5 — it
* For repairing black anodizing, refer to P846. - 15 atein) =l S %Qreaqiggecc'ﬁvmg ,,
o 2
lFeatures: Brackets with tabs to fit in slots of extrusions and stop rotating when ti 2 N <
lTabbed Brackets HBLFS6 ; M5 _ S
HBLFSBG6 (Cathodic Electrodeposition Paint: Black) (When specifying
0.7 i
0 3 alteration C)
- 28| 2063 g [@Material: EN AC-46100 Equiv.
T i = Part _|Mass|_Applicable Screw, T Nut _[Hwsetsd[Unit Pice[ies LG e Example of HBLFSNES
© Feote " 5"—3 N Number | (g) | Screw |owiy| T Nut |omiy] (N) [1~99 pe(s)| 100~200 Example
oy I O
P L‘_Z. M5 HBLFSNKS| 15 | CBM6-12 | 2 | HNTT6-6 | 2 | 1176 i
M5 . g % m HBLFSNE6 I Can be mounted on a plate directly.
(When specifying 28 alteration C)
Type [Material E3Surface Treatment alteration C) [llFeatures: Tabbed Brackets with Slotted Hole on one side. Hex Socket Head Cap Screws with Captured Washer can be used for mounting without interference between screw heads.
HBLFS6 EN AC-4610 - MBrackets with Slotted Hole on One Side 20 0.7 -
HBLFSB6 | Equiv. | Bk HBLFSH6 0 ar
06.2 Y |
NS 28 2063 ] Example
Part [Mass Applicable Screw, T Nut |AlowableLoad|Unit Price)VoumeDsconiRa Used for L-connections it s 20 - 4
Number | (g) Screw |y T Nut |oantty) (N) [1-99 pefs)| 100~200 ax Example ) ¥ 12 o Q| | (Hex Socket Head Cap Sorews
HBLFSG @’ ] o with Captured W_ashe[ can
R LB L I PN be used for mounting without 3
HBLFSB6 | 13 | CBM6-12 | 2 | HNTT6-6 | 2 | 1176 2 \M5 oG = ;‘nte&ference between screw
i Bt (When specifying = eerhesbstrs e f
ateration )~~~ ~~ 10_1[.12 N ws . ‘ )
o L -
‘ [: %23 (When specifying B r [}
lFeatures: One-Sided Tabbed Rib Brackets. Easy to work with wrenches. [MMaterial: EN AC-4611000 Equiv. 28 0 JJ a
One-Side Rib Brackets
u HBLFSL6 12 N22 Part Number |Mass Applicable Screw, T Nut Al Unit Price Nolue Discount Rate Part Number
M5 1 Type (9) [ Screw [Quantityy T Nut [Quantityl Load (N) [1~99 pc(s).[ 100~200 HBLFS6
When speciying 10 — HBLFSH6 12 [ CBM6-12 [ 2 [ HNTT6-6 | 2 1176
alteration C) ’ 2-06.2 —
P - (C, SET, SST, SEU, SSU, SEP, SSP, SEC)
- Alterations' HBLFS6 - SET
12 5 28
\ ;I Alterations| Code Spec. Applicable Bracket Alterations| Code Spec. Applicable Bracket
© | HBLFSN6
5 Sl > HBLFSN6
— ‘ 12 Adds taps on a bracket for cover] HBLFSN6-5 SET  [Avplicable screws and nuts
—==\M5_ mounting. HBLFSNB6 sst  [forfixing the brackets on HBLFSN6-5
23 _| (Hhen specting ’ (M5 on Both Sides) HBLFSNM6 St [EXirusions come in a set.
! l 30 ateraton ) ”:I';"““Q (Mounting Screw HCBM on P754) fig BLFSN6 £l |(Adds tothe bracket price.) HBLFSNB6
L 0
Dpatral: ENAC-46100 Equl Afteration | © HBLFSB6 oA | @) When HBLFSS i spece: HBLFSNMG6
elorel FLAY v for Cover HBLESLG SSU | Code| Screw | Nut CHBLFSNG
- ] " ) | st | SET [CBWG-12_[FITT66
Part [Mass| Applicable Screw, T Nut |AovbiLsad)Unit Price Vi Dsuuifse (®) Can be combined with both cover plates of 5mm and 3mm thickness. Tapped Hole Position Applicable i \ssTTSes2 (M HBLFS6
Number | (g) | Screw |owm| T Nut [oes| (N) [1~99pcls)] 100-200 ex Example , s mg"gsef"" - SE’P 'SEU[CBWG-12 | FNTU6 HBLFSES
2 = 5 Fothsenty |- e — e
HBLFSL6[ 17 [ cBW6-12 [ 2 | HNTT6-6 | 2 [ 1176 —= 2~ BExample of Cover Mounting | sémgug b A ——
“Specy alteration code C. schsenty ror | SSPSCB6-12__|SHNTPG-6 HBLFSRG
iisutes | SECHOBST-15 [ ANTTo 6
HBLFSNK6
SEC  [@when specifying other
St Cptred| | than HBLFSB, check for the HBLFSNE6
Vestrandlls |{ - applicable screws and nuts.
HBLFSH6

hJ (%) Sorews for Black Anodized Brackets and Cathodic Flectodeposiion Painte (ack) Brackets re HCBNITB (Trivlent Chromate Black) on P751.
HCBM5-10/ (®Incuded Srew i not oHS complint when -SET,-SEUor -SEP ater then Bleck Anodized o Catodic B fton Painted (lack) Brackets






